8+BUS_SERVICE MANUAL M@@[@D@

[owG. No.

SHT REV

990-010-00

MIX-B-L-BUS  J1-2

C79
100 PF

J1-1 ’
E2

MIX-B-BUS—-GND

-3
J1-4

MIX-B—BUS-GND
MIX-B—R-BUS

U30A

2068

C82 100 PF
R215

C84
47UF

c318
.01

T

L L c319

416V

~

R213
36K

u3B
4560

MIX-B
MASTER

R217
5K1

'\
—l/ctos

R301 5K1

2
]
199
<«

100 PF

2R303

5K1

2308 '

2068

V

S R532
20K

O J8-5 MIX-B-0UT-L

MIX-B
OUTPUT

R533
20K

O Jg-6 MIX-B-OUT-R

l—DAUX—B—GND
o}

MIX-B-R >

MIX-B-L &
MIX-=B TO L/R MIX

T/B2SUBGROUPS > ’ A

& e |
™ sk
R229 5K1

5K1
R550
A

SW35A

C85 220PF
11
1T

5K1

BUS—L RS51

J3-17 1

R218
2K7

BUS-L—-GND 1

J3-18

R607
20

C341

$220PF

BUS-R

J3-19 1

+~" U57A
2068

c87
| | 220PF
1T

R222
\
2K7

e
R241
]220 25V

0o

47UF
16V

R578§

15K

Jg-7

QJ11-32  L-PIN2P

SR50

20K

8

R226
A

C89
2C||PF

C88
47UF
s +2|5V

BUS-R-GND y3-20

R608
20

C342

$220PF

{0578
2068

F1C

Cc297

J9-19  J9-20

MIX-RA MIX-RB R278B

g
R306

20K

10KD

L/R M
FADER

0291+

47UF
16V

R573 <

15K

X

5K1

R502
5K1

O J11-31 L-MIX-BAL-GND

L MIX

0J11-33  L-PIN3M

120

R236
20K

MIX-A-L
R227
J8—-1 L-MIX—UNBAL-OP

C209
ZCIlPF
1

U348

N
*a7ur
6V

R501

€93 120
4

O yB-2 L—MIX—UNBAL-GND

OJ11-27 R-PIN2P

v

4560

ZR506
20K

R MIX

.01

R535
5K1

VW

C212
20PF

R534
1

US4A

ca21

47UF R51

R268
20K

0J11-28 R-MIX-BAL-GND

4560

MIX-A-R
R536

us48
4560

120

J8-3 R-MIX-UNBAL-OP

R537
20K

O Jg-4
R-MIX—UNBAL-GND

O J11-29  R-PIN3M

8-PIN SIP DETAIL
TOP VIEW

I—GATE A—l

REVISIONS

ZonE: | REV: |

DESCRIPTION | DATE

[ apprOVED

,—GATE B T

00000000

PIN 1
D MARK ouT -  + V- 4+

- OUT V+

7101 706-033-01
STANDOFF, SWAGE, 4-40 X
7102 706-033-01
STANDOFF, SWAGE, 4-40 X
7103 706-033-01
STANDOFF, SWAGE, 4-40 X
7104 706-033-01
STANDOFF, SWAGE 4 40 X
7105  706-033—
STANDOFF, SWAGE 4 40 X
7106 706-033-01
STANDOFF, SWAGE, 4-40 X
7107 706-033-01
STANDOFF, SWAGE, 4-40 X
7108 706-033-01
STANDOFF, SWAGE, 4-40 X
7109 706-033-01
STANDOFF, SWAGE, 4-40 X
710 706-033-0
STANDOFF, SWAGE, 4-40 X
711N 706-033-0
STANDOFF, SWAGE, 4-40 X
712 706-033-0
STANDOFF, SWAGE, 4-40 X
13 706-033-0
STANDOFF, SWAGE, 4-40 X
14 706-033-0
STANDOFF, SWAGE, 4-40 X
715 706-033-0
STANDOFF, SWAGE, 4-40 X
16 706-033-0
STANDOFF, SWAGE, 4-40 X
17 706-033-0
STANDOFF, SWAGE, 4-40 X
Z118  706-033-0
STANDOFF, SWAGE, 4-40 X

5420
O 5420
5421
.542L
O 542l
5421
5421
g 5401
5421
5421
5421
5421
5421
.542L
5421
5421
O

54201

5421

QTY
760-01-00
BTN 9X9MM LG CORE

760-013-00
BTN 9X5MM LG CORE

706-009-00
SPACER, PLASTIC .385 LED

65

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN INCHES
TOLERANCES
FRACTIONS: DECIMALS
+ xx
Xxxt

ANGLES:

CONTRACT NO:

APPROVALS

DATE

Mackie Designs Inc. Woodinville, Wa.

IMINACKAES

DRAWN:

MATERIAL:

trh

9-28-93

SCHEMATIC

[CHECKED:

[ISSUED:

FINISH:

8-BUS OUTPUT

ENG:

SIZE DWG. NO.

990-010-00

DO NOT SCALE DRAWING

MFG:

REV.

U

SCALE: |

|SHEET 5 o 7

©1993,01999 Mackie Designs Inc. All rights reserved

: | .

OUTPUT BOARD 10 REV U

10-7)




W AT 3, 8-BUS SERVICE MANUAL

..,— © e @@é@l@@ . . Ik
=] gl W) EN -C:f o ELEIEIE v _r S @2 s %'@ o T
Bl m Ei
- EEE ..|—| |—| @Eg@aﬁg%ﬁ @@g. Og@'lc;l@ - g @IIE B8 < ‘®®@® : %E@E@' — - _ .
" '@'. E @@@E g ¢ @ BSEE EES § 4488 a@l m@EIIIE@ e l@l@.g@%@lﬁ@ ~
BB~ | By~ g@g " 0@@0.! ©- o B 8Oy eomme S m
E@E_En@%lo@g@m Joeas ooamg BO°R= @aua@l . e ! B .
EE - E' ~ e E@@E% i lﬂ ')E Orarg 24 58 B8 wanll o Wi B .- I@
Ny (=0 o[ g s 0 — 8B L S
e cL % sl ol ﬁaaaaal' wEmy 10 8 @ —— —
9099, EE- NN S S ICIMICIN -y =T =L EV R S
3 bal ,
ﬁ@,ﬁ ,ﬁ m S Ei— . . % | - - |
” ‘ ‘ @ Es @\:l s ” ®
%, I e = e Dl 9480 A .
0 B @@@@a@aa PN PN = o 8 Se—s e A .
@c@a@® :" LJ I—_Ilgéé 5@@55 |—‘l 55255 ﬂl s é ._“Z E%@EEE - ; - ) | — — :
‘@lE@lH@@lﬂ@EI ©09 T sms -] (- CEI Y oECL O - °
D @lm b ebel |—||C:@EE® l“@ o - @ %@@ ced & T : — - '
8 ] -@nE -m,,,. ul‘ SHOSH W = @E@@%EI# @@@E o B B —— i - - :
Il i~ @ e @ B g ,—l@@m ||| : @@@@ @” BEEeP BB ] [ e | | ®
l '_'@llgé @ El ' s @ .®@ - . _ _ |
lg.l@@.. m—— ﬁ% E[E .l%. |_l’lg“ ELEEE ® ; GG ;

(1 O = 8 OUTPUT BOARD 10REV U ) ©1993,©1999 Mackie Designs Inc. All rights reserved




8+BUS SERVICE MANUAL LV /2 X=X =,

J7
Aquouh_lJ 2 |aux 1y our -
AUX 1 OUTGND[ 3 4 |aux20uT + J10
AUX20UT-| 5 & |aux 20Ut GND suB 1 1O meter[ 1
AUX30UT| 7 8 |aux4our SUB 2TO METER| 2
AUX50UT] 9 10]AUX 6 OUT SUB3TOMETER| 3
i AUX 3-6 GND| 11 12|AUX 3-6 GND SUB 4TO METER| 4
AUX 1RINL[13 14]AUX 1 RINR SUB 510 METER| 5
— — i UXx2RINL] 15 16|AUX 2RIN R SUB 6 TO METER
G- G O - o AUX2 FIER| e
é H AUX3RINL|17 18[aUX 3RINR SUB 7TO METER| 7
7 i 75 sl Sy ¢ JRan iy AUX4RINL[ 19 20|AUX 4 RINR SUB 8TO METER] 8
< AUX 5 RNTLY 21 22{AUX 5 RINR LTO METER| 9
AUX 6 RINL| 23 24]AUX 6 RINR RTO METER| 10
J2 , AUX RTN GND| 25 26]aux RTN GND SUB METER MUTE| 11
! > i o , J1 DGND| 12
P — — — N N -MIX-B-BUS
w {f} - @ A Azug ; f ;wx B-BUS J8 ol
- — - | A -MIX-8- L MIX UNBAL OUT[ T T Z |t MIX UNBAL GND DGND| 14
— e T T T @ _ ¢c ] AGND) 3 6 HL-SOLO-BUS R MIX UNBAL OUT{ 3 4 {R MIX UNGBAL GND
i ° i - ) i
— == 2 G — AGND| 7 8 |R-sOLO-BUS
— —_ — — mixgourt] s 6 fmixsourr J1
- - - T SOLO-CTL| 9 10{FLASH-BUS
- _ - — ool 1 12l0en0 MIXBGND| 7 8 |CONIROL ROOM R sus 1our+[ T2 ]suB 1 our -
1
— — — ; vsvl 13 14 lesy CONIROLROOM L] 9 10JCONIROL ROOM GND SUB 1 OUTGND[ 3 4 |SUB 2 OUT GND
- - SIoIo L) 1 12]sTUDIO R suB20UT-{ 5 ¢ |sus20ur+
o UL.I .J - J cond STUDIO GND| 13 14|PHONES 1 R suB30UT-{ 7 8 {sus30uT+
: = F 4 b : : r PHONES 11} 15 16|PHONES § GND SUB3OUTGND| 9 10{suB 4 OUT GND
t: 1 - - r = - A = ﬁ J2 PHONES 21117 18|PHONES 2R SUB 4 OUT-[11 12[sUB 4 OUT +
J ‘] O E C : - ‘H[ ? |$- [ . - 1 AUX-1-BUS] Tt | 2 JAGND PHONES 2 GND| 19 20|R METER B SUBSOUT-|13 14]SUB5OUT +
E oCk —- L= — AUX-2-8Us| 3 4 |aGND L METER B[ 21 222 TRK/EXT GND SUB 5 OUT GND{ 15 16 [SUB & OUT GND
L - - R =t AUX-3BUS| 5 6 |AGND 21R< 1|23 24|271RK R SUB 6 OUT-{17 18|suB & OUT +
20 EOE - o a E AUX-5-BUS| 7 8 |AGND EXTINL| 25 26|EXTINR sSUB 7 OUT-{19 20{suB 7 OUT +
J 2 u*j 3 L I =z 2 - C AUX-4-BUS| 9 10 |AUX-6-BUS -16v| 27 28]-16v SUB 7 OUT GND| 21 22{sus & out -
3 . +16v| 25 30|+18v 5UB 8 OUT GND| 23 24i5U8 8 OUT GND
: +sv|31 32+sv AGND|25 26|aGND
DGND| 33 34[DGND ROUT+[27 28[R OUT GND
J ‘I J3 ROUI-{29 30|AGND
- :__ - Bus-If 1 [ 2 |aGnD 19 LOUrGND| 31 32|t our +
BUSZI 3 4 JAGND su8 1 NS SEND T [ Z]suB 1 INs RIN LOUI-[33 34|AGND
—_— — — — — — 3l s
O O D D BUS3| S 6 |aGND SUB 2INS SEND[ 3 4 fsug 2ins RN
0T D OC Bus-af 7 180 AGND SUB3INSSEND| 5 & |SUB 3INS RIN 115
U N S IO S B O 5“2'5 : - :iND SUB 4INS SEND| 7 8 |suB 4 NS RIN oGO
e e B F B :zs: 5 14 AG:ﬁ SUB 5 INS SEND| 9 10|SUB 5 INS RIN Y
i SUB 6 INS SEND| 11 12|SUB 6 INS RIN +2v] 3
8US-8[ 15 16 |AGND
SUB 7 INS SEND| 13 14]SUB 6 INS RIN vasvl 4
codoer, s BUS-L| 17 18 |AGND
SUB 8INS SEND| 15 16]SUB 8 INS RIN +iev|] s
BUSR| 19 20 {AGND
S SO SO SR S L MIXINS SEND| 17 18]L MIX INS RTN AGND| 6
; I T . R MIX INS SEND{ 19 20|R MIX INS RTN aev| 7
= J 3
.
= ¢

OUTPUT BOARD 10 REV U 10'9

©1998,©1999 Mackie Designs Inc. All rights reserved




